Unit 2 - Factors and Products (AH).notebook

Numbers, Relations & Functions 10

Review Assignment — Expand/Simplify and Factoring
INSTRUCTIONS: Answer each of the following in the space provided. DUE: Beginning of class on Tuesday, March 18%

October 25, 2017

March 2014

1. Answer each of the following...
a) Give the prime factorization for 630

2v 3% Ox 1

b) Find GCF of 228 and 300

12

¢) Find the LCM of 18. 30 and 66

990

[°]
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2. Expand and simplify the following...

a) 5MEx+3)(x+2)

20x*+ 55x + 30

b) 2(5v—6)°

50y>120y+72

October 25, 2017

[°]

c) (21‘—314.\'2 +3x—5]

8X-6)219x+15
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3. Factor each of the following... [3]

a) 8x° +12x b) 24x%y—12xy+18x7° ¢) x?—2x—24

4x(25%3) 6xy(4x-2+3y) | (x-6)(x+4)
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4. Completely factor each of the following... [6]
a) 49x” —81y’ b) 4x? -17x-15 ¢) 9x7 —24x+16

(7x-9y)(7x+9y) | (x-5)(4x+3) (3x-4)"
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5. Completely factor each of the followin

14
a) 32x7 —162

2(45:9)(4x4+9)

g...

b) 2x°—2x-24

October 25, 2017

[°]

¢) 10x2 —5x—50

5(2x-5)(x+2)
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Puzzle Worksheet - Goruping Like Terms.pdf
Puzzle Worksheet - Distribution Property.pdf
Example - Squaring a Binomial.avi

Worksheet - Factor GCF & Simple Trinomials.doc
Worksheet - Factoring Review.doc

Puzzle Worksheet - GCF.pdf

Puzzle Worksheet - Simple Trinomials.pdf
Worksheet - Expanding.pdf

Puzzle Worksheet - Difference of Squares.pdf
Puzzle Worksheet - Review of Factoring.pdf
Assignment - Expand_Simplify_Factor Mar. 2014.pdf

Review - Factoring.pdf
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3a)(a®)(@°) + (2a%)(@")

@) e+ =
() (6x3)x)(-3x)
(B) 4+ X% + 4x
(D) @)(3)(4x)
O -3 +56 -3

@) (-30)(Ex°)(=3¢)

@ 3x +2y

(™) @xEy)

@ 7xy? — 2xy°
©) T (-2xy°)
@ 7x%y — 2xy®
(A 7x%y)(-2xy?)

(

(@a')3a)@") ~ (—4a°)(2a%)(a)
(2a°)(a?)(3a%) + (8a°)(—a°)(a)
(5a%)(2ab) + (a®b)(3a)
(2ab?)(—2a%b®) — (ab®)(6a°b)
(—a®b)(ab?)(a%b?) + (a°b?)(—ab°)
(4a%b®)(—3b°) — (2ab®)(—6ab®)

CEES
(9) —14xy®
(5) -30x°
@ —14x%y*

12

13

14|15|16| 17| 18| 18

OBJECTIVE 1-a: To add, subtract, or multiply monomials (review).
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What Did the Girl Mushroom Say About the Boy Mushroom
After Their First Date ?

For each exercise below, multiply the polynomial by the monomial. Find your
ﬂ% answer in the set of answers under the exercise and notice the letter next to it. m
Write this letter in he box that contains the number of that exercise.

@ 5(2n” +n) @ 4afa®—2a +3) @ X2y(2x® — dxy +y°)
(2) 3n(en® - 2n) (7) —2a%9-a—4a? (2 —2xy%(@2x* - 5x%° - 3y")
@ n®(4n - 3) a’b(a® - b?) @ 4Axy(—x?y + 2xy — 5xy?)
@ —~2n(4 -+ 5n%) @ —3ab®*(a*h® — 2a’b) =Xy} (7xy? — x%y* + 3x%)
(5) -6n*(dn?-9) oab(a® + 4ab — 3b?) (i9) 3x%y3(2x'y® - 3x%y — 1)
Answers: Answers: Answers:

—24n* — 54n (M) 4a°—8a*+10 (N) —ax®y? + 10x%" + 6xy°
() 24n*-4n (H) —18a®+2a° +B8a’ () 2x'y —ax%y® + x?y*
@ —~24n* 4 54n® @ 2a%b + 8a°b® — 6ab® @ ~4x%? + 8x%y® — 20x%y°
W) 4n®-an? (1) 2a° + 8ab® — 4ab L) —ax’y? + 10x%y* — 20x%°
@ 10n? + 5n @ a'b—a®h?® @ 2x'y — dx%y? + x%y?

) ® 24n” — 6n° @ 4a® —Ba®+ 12a @ 6xBy* — ax’y® — 3x?y?
@ —~8n - 6n° @ —18a? + 2a° + 6a® —7x7y® + x5y — 3%yt

o0

(&) -8n- 1on* (L) -3a'b* +6a°°

| 7 110 [ 1 5 |13 | 4 9 2 | 1 8 |15 83 |12 6 | 14 I

—7x%y® + x5 — axy*
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)-8, —6 5.8)a% b}dm ©)9x% d)1 e)4 N)24a 6.a)(y + 4)
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)(x + 2y)(x + y) D2(a + 2 g2(x — D(x +2)

b)(y = 6)(y + 5) 93(a + 2)(a + 1) d)(x — y)*
B)(x = 1)(x + 5) 8.a)(x —

1.2)2,3b)(a + 2)(a + 3) 2.a)m + 3b)x

2.8 Exercise, page 92
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[image: image1.jpg]2.11 Exercise p’ad.v,w;? Reviews

B You must be able to recognize whic skills must be used
polynomial. When you factor the following polynomials,

to factor a
always check for

st. There are at least two expressions that cannot be
factored. Can you find others?

a common factor fir

15 © 3@+ 6a 2x — 8xy 3. 364 —4a>

4 254 —9y* X+ Tx + 12 6. 3a2—3b
7.y —1ly+28 8 16x'—8x+1 9.  a*—ab— 56b°
10. 4 —11x+6 1. —1409k 120 1+18y+ 3297
13, 2y>—38y°® 14 x*+6x+38 15, 56x2+9x—2
6. —16—9x* 17, 16 —28x + 10 18 ~m*—16
19,  8—1dy+5)° 20, —(1-da9 21 m*—5m:—36
22. . 6a*+5a+1 23, x*—y* 24, p*—2pq—634°
25. m*+3m*—4 26. x*—xy 27. x*+3xy—x
28, a?— 144 2. 3a>—36a+36 30, (a+bP—c?
31. —q? —2ab —b* 32 x34+5x2—6 33. x* + 18x% + 32
34 mt-9mP-112 35 x5—1 .36 2yr—2y—24
37 2x*—38 38 42 +8y—60 39, m*—16

x3 — xy* 4. x*—5x*+4
4.  x*yPz—2xy*
46. @+ bR —(a—by
25(2x + 1)* — (9% — 1)
25(x + 29)* — 9(x — 2))*

40. 2x% — 16x + 32 41.
43, —48 —3y* )
45 -y -+
47 - (a— By — 16(a + 2b)* 4.
49, A(x—y)F—16(c+y* 50.
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DOUBLE CROSS

1. What do you get when you cross a chicken with a centipede?

5 8 11 14 12 2

14

1

10

13 11 6 7 4 13

2. What do you get when you cross a mink with an octopus?

12 7 38 12 11 3

g

12

14

10 13

Factor each polynomial below as the product of its greatest monomial factor
and another polynomial. Find your answer and notice the letter next to it. Each
time the exercise number appears in the code, write this letter above it. Keep
working and you will find out what you get from these “double crosses.”

@ 6x° + 9x + 27

@ 5x3 + 30x? — 15x
14x3 — 7x?% — 35x
25x° — 40x? + 10x
4x* + 20x° + 12x2

3x* + 12x% - 33
49x* — 14x° — 28x
Answers:

4x3(x* + 5x + 3)
3(x* + 6x% + 11)
7x(2x2 — x — 5)
3(2x® + 3x + 9)
7x(7x3 — 2x2 — 4)
x(5x% — 8x + 2)
x(7x3 + 2x% — 3)
x(x% + 6x — 3)
(x* + 4x% - 11)

COEEEOEO®m QOEEO@®E

W o1 N O,

OBJECTIVE 3-f: To factor a polynomial as the product of its greatest monomial
factor and another polynomial (polynomials in one or two variables).

2a2 + 12ab + 6b?

() sa®- 1gab

3a2h? + 15ab°

8a*b* — 28a°b® + 4a2h?
6a*b — 10a%h? — 6a°b°
7ab® — 56ab

14) 24ab* + 12ab® — 18ab?

@

Answers:
6ab?(4b?—3b — 2)
2(a® + 6ab + 3b?)
7ab(b* - 8)
3ab(a + 5b)
6ab(4b? + 2b — 3)

(N) 4a®b?(2a%b® - 9ab + 2)
2a°b(3a® — 5ab — 3b?)
6a(a® — 3b)

T) 4a®b*(2a%b®—7ab + 1)

@EOR®

@O

© 1989 Creative Publications 81
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When Is a Wrestler “King of the Ring”?

hH| S
I"-_l_ Factor each trinomial below. Find your answer and notice the letter next to it. ":""J
E‘, Write this letter in the box containing the number of that exercise. Keep working I__r‘j
==; and you will get the gripping answer to the title question. ||-_,|
by ] RE

n>+6n+5 2+ 10t+ 16 a + 5ab + 6b>
® @

(2) n?+7n+10 (9) £-15t+50 (16) a®—4ab—21b?

(3) n2-7n+12 2+8t—9 (i7) a2 +6ab — 7b
(4) n?—11n+28 (1) #-7t-30 (18) a2 - 14ab — 32b>
(5) n+2n-15 (2 -t-30 (19 a?-29ab + 100b>
(6) n?—5n—24 (13) 2+ 14t +48 (20) a%+7ab - 18b?
(7) n?+n-s56 (4 t2+8t—48 @1) a2+ 2ab + b?
Answers: Answers: Answers:
L (n+2)n+6) (N) (t-e6)t+5) (K) (a - 8b)ia + 4b)
H) (n+5)(n~3) (V) (t-25)t+2) (H) (a+7b)(a—b)
W) (n+5)(n+1) (T t-5)t-10) (A) (a—20b)(a + 5b)
® (n-3)(n-4) @) (t+6)(t+8) (E) (a+2b)(a+3b)
(n—1)(n +15) (©) (t-10)t+3) W) (a +9b)(a —2b)
(S) (n+8)(n-7) (t+15)(t—2) (T) (a—7b)(a +3b)
(H) (n+2)(n+5) (D t+8)t+2 (O) (a—25b)(a - 4b)
(E) (n-8)n+3) H) t-4)t+12) (S) (a+6b)(a+3b)
(R) (n—12)(n-2) (S t+9)t-1) (N) (a+b)(a+b)
(N) (n=7)(n—4) (A) (t—24)t+2) (R) (a—16b)(a + 2b)
T TR o T i i L T e e S S

_. 5 S —LL _LL

112134156 |718]9|10]111}12|13|14]15}16}17}18]|19]|20] 21

OBJECTIVE 3-n: To factor trinomials of the form x? + bx + ¢,
90 © 1989 Creative Publications where c is positive or negative (review).






SMART Notebook


édeS
AT 0 SN ~ —— e L B
= 5 == =z = = =
ETEo=2 5§, I PTRPBI HAE i
WRRSST & & padBR R
£ orpf oo o s R B% M Lo
= T T mSex +8 3
© =W o9 == ON 3
‘;’aak“"' w P O pgaagw I SE
o E 3§ > =, B Py S8 < B
o 10 bR WDRp<EE o4 P
gl - = o ENRT i o Tl
< T+ B4 o anetie ! SR 2E
Ny g 2 ) QU B2 ISR )
g oesd g Solal HET RD
Fe 5,8 o ! T nS & ! I% Ll Ve
& T g b b omErE Ty @
= 124+ R ERhE o R+
| W | = R SR = .
pw DI+ R Sy =k I >
PSR ¥ (=] Lol T O Bl = -
v _ Se Bl oo SR Tl ol
~ o = =+ L — - 0 S =W
& o = 2 L 4N N o
+ K H ., e = T EStRxT L TR
o R ) bl o 0t ]IS 4
A T O e S Y =
Sl R e = = Rw:l+
pEIFISH 2 oopZ e 2l o !
LB T 59 7 & + R
c\\<h 2R ® + Nmm++ £y ()
By o B g =3 =100
A = = o= = | '5&
| ¥ - v EQm s s
w49 * 2 oA RETERIES
™~ (8] *
&=y w P =8 S =29 | & "N,Q'é&
o o 5 T o Ty VN
| e, | [y = % + N 5]
+ | w8  ETEN L
=} = by I &
g% o S vy 2Paprw
hd 98 T §N+ | Nl_oz
S T RO - -
S — G ST VR RrSEv- N

Exercise

A Review the skills needed to multiply two binomials.

Multiply.

@ (y+3)y+2
d (y=30-2
@ y—06u+T7

© +6)y—"7
(f) (a—35)(a+ 3)
D (x+y»x-—y

() (k + 1)k + 6)
€ (x—3)x+2)
h) (y—"NDy+7)

Use a diagram to illustrate each of the following.
() (x+2y)(x+2y)= x2 + 4xy + 4y?

(b) (v = ) = x* = 2xy + (©) (2x — 3 = 4 — 4wy + 7

Find the products. How long did it take you?
@ (y+3)Gy—>5) (b) (2a + 4)(3a—7)
@ (-Hy+4 (€) (x—6)(x+2)
(8) Ux—2(x+7) (h) (x — 9y)(2x +y)
(G) @+ k)6 + k) (k) 3k —2)(3k +2)

(¢) (3t +3)(t—3)
(f) (m+ 7)(m + 2)
(i) (x+ Dx+38)
) Bx—DEx+1)

Simplify each of the following.

(@) 3(x — (x — 4) (b) —4(x — 3)(2x — 5)
(d) 82y —6)CBy + 1) © —2x—y’

(g) —2(k—6)(k+8) (h) —(2m — 3)(m — 3)
(4) 26Br—92p—9) k) 2(2x — y)?

(c) 33k + 1)

() —302x — y)2x + )
(i) 3(x— 5)?

() —2a—5)(a+6)

Review the method that helps you multiply polynomials mentally.

Expand.
(@) (x* —8)(x* —3)

o (-6

(2) (ab — 6)(ab + 6)

© @y*—1)(6y*+7)

© @x—1? 0 Gy 57
1 2 ) 5 2
(0) <2x = 5) 0 <4x - 5)

Simplify. :
(@) (x —4)(x —3) = 2x —4)(x +3) (b) 32 — M3 +y) =4y — 6y +5)

(© (a—3)2a—2)+2(2a+ 3HQ2a—1) (d) 3(5m+ 4im— 6) — 2(m — 6)(3m + 7
€ (Bx—5%*—2x—5(x+5) f) 2a—1>—-(@+ 1)?

(@ 3(x—y)?* =30+ yx—2y) (h) 2(a — 2b)* — 3(b — 2a)’

7

(b) (8 + 2a)(1 + a)

Expand and simplify.
(a) (x + ) (2x = y)x +)
(¢) (3x = 2)(2* —2x + 1)

(b) (2a — b)(3a + b)(a — b)
(d) (a — 2b)(3d* — 2ab + b?)
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&  Why Didn't Klutz Do Any Homework on Saturday?

adjacent answer column. Write the letter

Multiply:

(D @+5)a-5)

suoeOlIqNd BAIESID 686} O

2a® — 5b)(2a

2

(2 + 3a)(2 - 3a)
(7a—1)(7a + 1)
(@ - 6)(a® + 6)
(4a + b)(4a — b)
(

+56b

)

@ 16a® — b?
(13) 4922~ 1
@ a®-25
(17) 4a* - 25p2
@ 4 — 9a°
(12 4a*-36
(24) a* - 36

(2n + 3){(2n - 3)
(12 + 5n)(12 — 5n)

Either multiply or factor, as directed, and find your answer in the
of that exercise in the box that contains the number of the answer.

Factor:

@ xmltm

(1) 4x? - agy?
W) 81x2 - 100y2
(E) 36x% - 121y?
(©) 9x® - 64y
(N) x* - 400

Factor:

(9x + 10y)(9x — 10y)
(X +y)(x—y)

(x? + 20)(x? — 20)
(6x + 11y)(6x — 11y)
(Bx + 7y)(3x — 7y)
(2x + 7y)

(3x + 8y)

2x — 7y)
3x — 8y)

BRGER®®

(
(

(19 (4 +a%b®) (4 - a?b?)
(19 (2a®+ 15)(2a® - 15)

2 ®

532 @

sm (A n?-1 (®) (n+1)n-1) (©) 25a® - 9b* @) (a°+b?)(a® - b?)
WW (N) 81-n? (5) (7n +3)(7n - 3) W) a%b?-36 (2 (ab®+c*)(ab® - c)
mw (H) 4n2-9 @) (h+7)n-7) (®) 16-a'b® (9) (ab +6)(ab - 6)

ww (D) 49n*-16 @8 (9+n)(©-n) K) a®b*-c® (16) (sa*+3b%) (52" - 3b?)
mm (E) 144 - 25n? 2O) (7n +4)(7n — 4) (N) 4a'® - 225 (0) (4 +ab*)(4 - ab?)
m,w 1123|456 7]8]o|10]11]|12[13]14]15]16]17 19|20 |21 ] 22| 23| 24
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How Can Fishermen Save Gas?

Factor each trinomial below. Find one of the factors in each column of binomials. Notice the
letter next to one factor and the number next to the other. Write the letter in the box at the
bottom of the page that contains the matching number.

(1) 4n?-49 ®) (n+1) ©) (n-3)
@n2+8n+12 @(n+2) @(zn_7)
@n2_9n+20 @(n+8) ®(n-5)
() n?+ 16n+64 () @n+7) ® @n-5)
(5) n?+2n-15 @) (n+5) ®) (+8
@3n2—8n+5 (”“1) ®(3n—1)
(n—4) () (n+6)

S B S Vﬁé&@%@@
. @ @-5) (2a + 1)

2+ 4a — 21

532'*‘98—2 Q(a+7) (3—6)
(9) 2a®+11a+15 (o) (e + 1) ® (a-3)
49 1-9a* @) @+2) © @+3)
(1) a®—11a+30 (9 (a-1 () (sa-1)
(12 10a>~3a~1 (®) (1-3a7) ®) (ea-1)
a (2a+5) (V) (1+3a)

S R
@8u2+19u+6 (U+3) @(u+1)
(14) 2502 —20u+4 (12 (eu+9) u +1)
@3U2—11u—14 @(U-3) @(8u+3)
u2—4u—21 ®) (Bu-2) L @u-1
@ 6u®+17u—10 @ (3u—14) @ u-7)
(8) 2u?+5u—18 (19 (u+2) ®) -2
@ @u+10)  (F) Bu-2)

T [2]a]4]s5|6]7]89]|tw0]n]i2]1a]14]1s5]6]17]|18]

=N

OBJECTIVE 3-p: To factor trinomials using the
methods on preceding pages (review). © 1989 Creative Publications 93
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Numbers, Relations & Functions 10 Name:
Review Assignment — Expand/Simplify and Factoring March 2014
INSTRUCTIONS: Answer each of the following in the space provided. DUE: Beginning of class on Tuesday, March 18"

1. Answer each of the following... [9]
a) Give the prime factorization for 630 b) Find GCF of 228 and 300 ¢) Find the LCM of 18, 30 and 66

2. Expand and simplify the following... [9]
a) 5(4x+3)(x+2) b) 2(5y —6)> ¢) (2x—3)ax? +3x—5)

3. Factor each of the following... [3]
a) 8x3 +12x b) 24x%y—12xy +18xy? c) x?—2x-24

4. Completely factor each of the following... [6]
a) 49x? —81y? b) 4x?-17x-15 c) 9x% —24x+16

5. Completely factor each of the following... [9]
a) 32x* -162 b) 2x? —2x—24 c) 10x* —5x—50
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Factoring Review

Name

Math 10 (Numbers, Functions and Relations 10)

Factor the common factor out of each expression.

1) 20/° +47° — 40
3) 12n° — 48n° +42n

Factor each completely.

5) x° +x—56
Ty 4k — 24k — 28
9) b°—T7b—8

11) 30" — 24n— 72

13) 16n° — 164n + 288
15) 4x° + 6x
17) 4% + 79 =2

19) 6v° — 14y

2) —5x° —5x° - 5x

4) —56a’ +48a° + 164°

6) 6n° — 6n— 120
8) x° —3x—18
10) a® + 13a+ 30

12) 5x* —21x - 54

14) 54x° - 90x
16) 6n° —5n+ 1

18) 4n’ —4n-35

Answers to Math 10 (Numbers, Functions and Relations 10)

1) 4(5+° +»* = 10)
5) (x+8)(x-7)

9) (b-8)(b+1)
13) 4(n - 8)(4n-9)
17) (r+2)4r—1)

2) =Sx(x®+x+1)
6) 6(n—35)(n+4)
10) (a+3)(a+10)
14) 18x(3x - 5)
18) (2n+35)(2n—-7)

3) 6nl(2n* —8n+7)
7 4lk+1)k-7)
11) 6(5n+6)(n-2)
15) 2x(2x +3)

19) 2v(3v-7)

4) 8a’(-7a* + 6a° +2)
8) (x—6)x+3)

12) (5x+9)(x—6)

16) (3n-1)2n-1)
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